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#include <stdio.h>

int main()

{
int score;
int age;

scanf("%d %d\n", score, age);

printf("age@%d, score@%d\n", age, score);
return 0;
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#include <stdio.h>

int main()

{

int a 10++;

int b 10.0 % 2;
return 0;
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#include <stdio.h>
int main()

{
int a = 10;
switch (a)

{

case 0:
int b = 20 + a;
break;

case 2:

break;

by

return 0;
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#include <stdio.h>

int main()

{



for (int i = @; i<5; i++)

int a = 20;
return 0;
}
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int main()
{
test();
return 0;
}
void test()
{
}
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void test()
{
¥
void test(int n)
{
¥
int main()
{
test (10, 20);
return 0;
¥
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#include <stdio.h>
int sum(int a, int b)

{
printf ("IEIGEE\N");
¥
int main()
{
int xp(int, int);
p = sum;
int ¢ = p(10, 11);
printf("FfZ%d\n", c);
return 0;
¥
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void test();

int main()
{
struct Date
{
int year;
int month;
int day;
¥
test();
return 0;
}
void test()
{
struct Date date = {2011, 9, 10};
}
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int main()
{
struct Date
{
int year;
int month;
int day;
} d1 = {2011, 9, 10};
struct Date
{
int year;
int month;
int day;
} d2 = {2010, 10, 11};
return 0;
¥
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#include <stdio.h>
int main()
{
struct Student
{
int age;
char sxname;
¥

Student stu;



printf("iF@AFE: \n");
scanf("%d", stu.age);

printf("F@AKEZ: \n");
scanf("%s", &stu.name);

return 0;
} Y
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#include <stdio.h>
typedef struct
{
int age;
char xname;
} Student;
typedef Student x StuP;
int main()
{
Student stu;
StuP p = &stu;
p.age = 10;
p.name = "rose";
return 0;
¥
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int main()
{
struct Date
{
int year;
int month;
int day;
} d1 = {2011, 9, 10};
struct Date
{
int year;
int month;
int day;
} d2 = {2010, 10, 11};
return 0;
b
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